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@ 7.4cm ® 7.5cm
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AD//BC °©]E& AAOD < ACOB

~ AO:CO=AD:CB=6:9=2:3

AAEO @ AABC o]B 2

AO:AC=EO:BC=2:5

EO:9=2:5.. EO = 3.6(cm)

ADOF ©0 ADBC ©|E2

OF:BC=DO:DB=2:5

OF:9=2:5.. OF =3.6(cm)

. EF = EO + OF = 3.6 + 3.6 = 7.2(cm)
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(1) ZADO = /CBO(%!
/AOD = /COB(%ZEZ]
AAOD @ ACOB(AA E2)

(2)DO:BO=AD:DB=6:8=3:4

(3) AABCol4 AO : AC =EO : BCo|2&2
3:(3+4)=EO:8
7EO = 24

- EO= 2_74<cm)
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(4) ACDAOIA CO:CA=FO:DAo|EZ
4:(44+3)=FO0:6
7FO = 24
24

o FO= 7(cm)
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® DF//AC ® DE = AF
®)DF = EF @ /AEF = /C
® AABC 0 ADEF
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@ 10cm @ 12cm ® 13cm @15(:111

® 18cm

B

D,E,F7} ZF Ho] SHojn=

x 10 = 5(cm)

e 1 1
= JAB + ;BC+ 7AC

:%<E+W+A—c

1
= 7(10+12+8)
= 15(cm)
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51 BD = DG
DG:GC=AE:EC=1:2
BD:DC=1:3
BC:DC=4:3

L AABC : AACD =4:3, AABC: AABD=4:1
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16 : 45

AQ:QP=AP:PM=2:1
AQ=2QP, A
1

PM =

33—

§QP =4:2:3
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.. AADE : oFBCG

= AADE : (AABC - AAFG) = 16 : (81 — 36)
=16:45




